Precalc15.3

Find values of integrals
Find the area under the curve of polynomial graphs
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How can we get a better estimate?



Start with an easy one
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o Use limits to find the area of the regign hetweemthe graph of y = xZ and the
x-axis from x = 0 to x = 1. That is, rin lj = X 2

x:= height ofrect.

-2 l (width of a bar) /\ x= width of rect.
First find Ax. — (b-
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o Use limits to find the area of the region between the graph of y = xZ and the
| x-axis from x = 0 tox = 1. That is, ﬂndJ‘ xZdx.
x= height of rect.

First find Ax. /\ x= width of rect.

Then find x;.
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Use limits to evalpate each integral.
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Use limits to find the area of the region between the graph of y = x* and the
x-axis fromx = 2tox = 4.

Strategy?






